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FT
Rep.1002 10 10 10 meshkuj
Rep.1010 31 9 40 40 meshkuj
Rep.1020 96 96 96 meshkuj
Rep.1030 7 7 7 meshkuj
Rep.1040 40 40 40 meshkuj
Rep.1060 23 4 27 24 meshkuj+3 femra
Shuma 169 4 0 0 0 0 0 0 0 7 0 31 0 0 0 9 0 220 217 meshkuj + 3 femra
KM
Rep.4002 3 3 2 meshkuj+1 femér
Rep.4006 24 2 1 2 2 31 29 meshkuj+2 femra
Rep.4007 2 2 2 meshkuj
Rep.4030 14 4 2 20 18 meshkuj+2 femér
Rep.4040 18 18 17 meshkuj+1 femér
Shuma 61 4 0 0 0 0 0 0 2 1 0 0 2 2 2 0 0 74 68 meshkuj + 6 femra
FAj
Rep.3002 7 7 7 meshkuj
Rep.3003 1 1 1 meshkull
Rep.3005 6 6 6 meshkuj
Rep.3006 2 2 2 meshkuj
Shuma 9 0 0 0 0 0 0 0 0 0 6 0 0 0 0 0 1 16 16 meshkuj
FD
Rep.2002 8 8 6 meshkuj+2 femra
Rep.2004 14 1 12 27 23 meshkuj+4 femra
Rep.2006 2 5 7 7 meshkuj
Rep.2008 3 3 3 meshkuj
Rep.2012 2 2 2 meshkuj
Shuma 0 0 18 0 0 0 1 0 0 0 0 0 0 0 28 0 0 47 41 meshkuj+6 femra




AFA

Rep.5005 4 3 7 7 meshkuj
Shuma 0 4 3 0 0 0 7 7 meshkuj
ASNI
Rep.6640 5 1 8 8 meshkuj
Shuma 5 1 0 0 0 0 8 8 meshkuj
PU
Rep.6620 15 15 11 meshkuj+4 femra
Shuma 15 0 0 0 0 0 15 11 meshkuj+4 femra
BMb
Rep.6630 19 3 5 27 27 meshkuj
Shuma 19 3 0 0 0 5 27 27 meshkuj
AISM
Rep.6002 5 5 5 meshkuj
Shuma 5 0 0 0 0 0 5 5 meshkuj
Totali si FA 283 26 3 8 31 35 419 400 meshkuj+19 femra




